INEETRZEE =il

11:00 =%
CIEPN
5 & it
LEBHEER 20, 242 20, 208 40, 450
EERR 3, 048 2,110 o, 758
- MEMRE
BREH TEERE
&t 3, 048 2,110 o, 758
BEE (%) 15. 06 13. 41 14. 23




INEETBSERM@AESY pErhlEs

11:00 =%
CIEPN
5 & it
LEBHEER 20, 242 20, 208 40, 450
EERR 3, 048 2,110 o, 758
- MEMRE
BREH TEERE
&t 3, 048 2,110 o, 758
BEE (%) 15. 06 13. 41 14. 23




RBRERERMREF gEPMas
11:00 =%
(B : A)
7 % Bt
HEREER 20, 251 20, 213 40, 464
HERR 3, 049 2, 110 9, 158
= ELEE
AR FEERE
&t 3, 049 2, 110 9, 158
B’ERE (%) 15. 06 13. 1 14. 23




